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	2017 July CCNA 200-150 Exam Dumps with PDF and VCE New Updated in www.Braindump2go.com  Today! 1.|2017 New

200-150 Exam Dumps (PDF & VCE) 106Q&As Download:http://www.braindump2go.com/200-150.html 2.|2017 New 200-150

Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNVmxoUEhTTmZZMXc?usp=sharing  QUESTION 51The network

administrator has been asked to give reasons for moving from IPv4 to IPv6. What are two valid reasons for adopting IPv6 over

IPv4? (Choose two.) A.    no broadcastB.    change of source address in the IPv6 headerC.    change of destination address in the

IPv6 headerD.    Telnet access does not require a passwordE.    autoconfigurationF.    NAT Answer: AE QUESTION 52Switch A

has BPDU fitering configured on all active interfaces. A second switch, Switch B, is connected to Switch A. Which two actions will

Switch A take when Switch B is connected to it? (Choose two.) A.    Switch A will not send any BPDUs.B.    Switch A will

transition the port a normal spanning tree port.C.    Switch A will not accept any BPDUsD.    Switch A will errdisable the port.E.   

Switch A will start sending BPDUs to Switch B. Answer: AC QUESTION 53An engineer is configuring a new MDS switch. The

switch is powered on, the customer connects to the console, and the initial setup script is started.Which two items can be configured

during this setup process? A.    default port-channel modeB.    default port VSAN membershipC.    default switch port interface state

D.    default zone modeE.    default storage VDC Answer: CD QUESTION 54Which Cisco UCS power policy mode enables a

configuration that can tolerate the loss of an input power circuit? A.    nonredundatntB.    GridC.    N+1 in normal modeD.    N+1 in

high-density mode Answer: BExplanation:

https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/hw/chassis-install-guide/ucs5108_install.pdf (page 33) QUESTION

55What is the maximum working distance of a 1000BASE-ZE SFP transceiver when ordinary single mode fiber? A.    up to 70

kilometersB.    up to 40 kilometersC.    up to 550 metersD.    up to 10 kilometers Answer: A QUESTION 56Refer to the exhibit.

Which type of network communication is depicted?  

  A.    802.3 frameB.    TCP frameC.    Ethernet packetD.    UDP packet Answer: A QUESTION 57Which protocol is supported

when OSPFv2 is used as the routing protocol? A.    NetBiosB.    LATC.    IPv4D.    IPv6 Answer: C QUESTION 58Which two port

types are needed to build out an FCoE pass-through switch in NPV mode while maintaining Fiber Channel packet visibility?

(Choose two.) A.    VN PortB.    VE PortC.    VF PortD.    Edge PortE.    N Port Answer: BD QUESTION 59A network design team

has mandated that IP-only routing protocols be used in the network. Which two routing protocols will they want to use? (Choose

two.) A.    BGPB.    OSPFC.    RPD.    EIGRPE.    IS-IS Answer: BC QUESTION 60What is the maximum of fabric modules that

can be installed in a Cisco Nexus 7000 chassis? A.    5B.    6C.    4D.    7 Answer: A   !!!RECOMMEND!!! 1.|2017 New 200-150

Exam Dumps (PDF & VCE) 106Q&As Download:http://www.braindump2go.com/200-150.html 2.|2017 New 200-150 Study Guide

Video: YouTube Video: YouTube.com/watch?v=ySnz1PlssKA
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